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ﬁfg TREOBEBDEILADKES TREDHBEEILADKRES TREOBEDOEILADKES rTEEFDHEBESSENDKRES
; 100kN/m%E#8z25%5 | 1.00 | 0.00 ~ 273 | 14311 |3m%E#Bzx3 -~ - - -| 100kN/MZ#BZ% | 1.00 | 1060 ~ 2504 14311 |3mEEZD -~ -
st 1.00 | 273 ~ 1052 100.00 | #=hist | 0.oo ~ 1052] 2.97 15.88 st 1.00 | .00 ~ 10.60 100.00 | #hds | 5.00 ~ 2504| 2.97 15.88
2 100kN/m%E#8z2% | 1.00 | 0.00 ~ 287 | 14545 |3mE#BZ3 -~ - - -l 100kN/M%E#25 | 1.00 | 10564 ~ 2447 145.45 |3mEEZS -~
st 1.00 | 287 ~ 1066 100.00 | Ths | 000 ~ 1066 2.74 14.64 ThLst 1.00] 5.00 ~ 1054 100.00| ThLs | 500 ~ 2447 2.74 14.64
3 100kN/m#E#8z25%5 | 1.00 | 0.00 ~ 277 | 14580 |3m%x#Bz2% ~ - - -l 100kN/M%E#25 | 1.00 | 1053 ~ 2398 143.80 |3m%EEZB -~
znLst 1.00 | 277 ~ 1056 100.00 | Thst | 0.00 ~ 1056 2.70 14.45 znLst 1.00 ] 5.00 ~ 1053 100.00| ThLs | 500 ~ 2398 2.70 14.45
4 100kN/m##8Z25%5 | 1.00 | 0.00 ~ 285 | 145.18 |3m%E#Bz5 ~ - - -| 100kN/MZ#BZ5 | 1.00 | 1054 ~ 2429 14518 |3m%E#EZ5 -~
LS 1.00 | 285 ~ 164 100.00 | Fhs | 000 ~ 1064 2.74 14.65 ZThLst 1.00| 6.00 ~ 1054 100.00| ThLsS | 6.00 ~ 2429| 2.74 14.65
~ | 100kN/mEHBR5 | 1.00 | 0.00 ~ 280 144.27 |3m%EHBZ 3 ~ - - -| 100kN/m%ZE#BZ5 | 1.00 | 1070 ~ 2339\ 144.27 |3mZE#BZ5 -~
? ThLst 1.00 | 280 ~ 1059 100.00| TSt | 000 ~ 1059 2.83 15.12 ThList 1.00156.00 ~ 1070 100.00 | ThLst | 6.00 ~ 23.39| 2.83 15.12
P 100kN/m##82% | 1.00 | 0.00 ~ 2.66 141.90 |3m%EHBZ 3 ~ - - -l 100kN/mM#%#BZ5 | 1.00 | 1055 ~ 2240 141.90 |3m%E#BZ5 -~
FnLst 1.00 | 266 ~ 1045 100.00| TS | 000 ~ 1045 2.75 14.71 FhLst 1.00 ] 56.00 ~ 1055| 100.00 | Ths | 6.00 ~ 2240 2.75 14.71
- 100kN/m%E#BZ5 | 1.00 | 0.00 ~ 215 13342 |3mE#Bz25 ~ - - -| 100kN/MZ#BZ5 | 1.00 | 11.02 ~ 2235 13342 |3mEHEZS -~
FhnLst 1.00 215 ~ 994 100.00 | #hLlst | 000 ~ 994 | 2.63 13.56 ThnLst 1.00 | .00 ~ 1102 100.00 | #hst | .00 ~ 2235 2.63 13.56
P 100kN/ m##22.% -~ - -|3mEE 2B ~ - - -| 100kN/mM%#BZ% % - ~ - -|3mE#BZS -~
FhLst 1.00 | 0.00 ~ 754 96.40 | #hSt | 000 ~ 754\ 211 11.52 FhLst 1.00 | .00 ~ 1000 96.40 | =S | 5.00 ~ 1000 2,11 11.52
9 100kN/m##8x.% -~ - -|3mE#EZD ~ - - -| 100kN/M%#BZ% % - ~ - -|3mEEZ D -~
znLst 1.00 | 000 ~ 695 88.08 | Thist | 000 ~ 695| 1.76 9.42 st 1.00156.00 ~ 860 88.08 | =S | 5.00 ~ 860\ 1.76 9.42
10 100kN/m##82.% -~ - -|3mE#EZ S ~ - - -| 100kN/mM%E#BZz % - ~ - -|3mEHBZ S -~
Thst 1.00 | 000 ~ 4.76 59.32 | Thust | oo ~ 476\ 1.77 9.47 Thst 1.0015.00 ~ 5.00 59.32 | ThUS | 5.00 ~ 5.00| 1.77 9.47
11 100kN/ mM%#EZ % -~ - -|3mERBZS ~ - - -] 100kN/mM%E#BZ5 - ~ - -|3m%E#BZ S -~
FnLst 1.00 | 0.00 ~ 464 57.87 | ENLSY | 000 ~ 464 1.86 9.94 Fn st 1.00 | .00 ~ 5.00 57.87 | =nst | 5.00 ~ 5.00)| 1.86 9.94
12 100kN/ Mm% 2% -~ - -|3mEHEZD ~ - - -| 100kN/MZ#BZ% % - ~ - -|3m%E#BZ S -~
FnLst 1.00 | 0.00 ~ 6.08 76.28 | #nS | .00 ~ 6.08] 1.91 10.23 FnLst 1.00 | 6.00 ~ 7.40 76.28 | =S | 5.00 ~ 740\ 1.91 10.23
100kN/m%#22.% ~ 3mEBRD ~ 100kN/m%#82.% ~ ImEHEZD ~
Fhilst ~ Zhst ~ zhus ~ ZhnLst ~
100kN/ m##22.% ~ 3ImEBRD ~ 100kN/ m#Z#8 7% % ~ ImEFEZD ~
ZFhLsh ~ Zh st ~ ZFhLlsh ~ Nt ~
100kN/m%#8x.% ~ ImEBZ D ~ 100kN/ Mm% % ~ 3mEBZD ~
LIS ~ Zh Lot ~ LS ~ s ~
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